APPC

Puppy Pitching – The Truth

In general the position of an object (with d as a function of x and y):
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d(x,y) = g*t+ v* t + d

2


where:

d = the position in centimeters

t = the time in seconds

vo  = the speed in cm/sec

 do  = the initial position relative to the origin in centimeters

g = the acceleration due to gravity (980.0 cm/sec/sec)

( = the direction of the velocity

( = the direction of the acceleration

For an object in the y direction we have:
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y = g*sin()*t+ vsin()* t + y
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For an object in the x direction we have:
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x = g*cos()*t+ vcos()* t + x

2
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Others:

vf = vo +a*t

vf2 = vo2 +2a(xf – xo)

           vf + vo
vavg = ---------

               2

vavg = displacement/time elasped

aavg = change of velocity/time elasped
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